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16HCl =—=2KCl +2MnCl, +5CL, +8H,0

o Cl, A ‘Mn  +7
o +2 0.1 mol KMnO,
1.6 mol HCI 0.5 mol
o 0.25 mol Cl, B C.D
1 KMnO, + HCl —

KCl +MnCl, + Cl, + H,0 0.1 mol KMnO,
(I .

Al Cl, o

B. 0.5 mol 2 dlo,

C. 0.5 mol Cl, H,S0, NaClO, Na,SO,

D. 16 mol HCI o NaClO,
Na, SO, ( ) o

A.1:1 B.2:1 C.1:2 D.2:3

: 2KMnO, + NaClO, Na,SO,
> D X H, CO,4.48 L
CH;O0 21.6 ¢
X X ( ) o
KMnO, X A. B. C. D.

X ( n(Ag) =21.6 g+ 108 g/mol =

) . ¢ X 0.2 mol 1 mol ( )

Cu( OH) , X 2 mol Ag
1 1 X 0.2 mol +2 =0.1 mol, 0.1 mol
H, 18 co, n( CO,) =4.48 L +22.4
CsHyOo D, L/mol =0.2 mol 1 mol co,
4. 2 mol o

4 A, ( 12017 -03 - 15)
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n( NaClO,) x (5 -4) =n(Na,SO,) x(6-4)
n( NaClO,) : n( Na,S0,) =2:1 B.

3 ;
2Fe’" + Cl, =—=2Fe’" +2C1~
HCIO + HCl ==Cl, + H,0
2Fe’* + Cu 2Fe*t + Cu’*
Fe + Cu’*==Fe’" + Cu

( ) o

A.Fe’* >HCIO >Cl, >Fe’" > Cu’"
B. HCIO > Cl, > Fe’* > Cu** >Fe’”
C.Cl, >HCIO > Fe’* > Cu®** >Fe**
D. HCIO > Fe’* > Cl, > Cu’* > Fe’*

I}
+
°

2Fe’" + Cl, ==2F¢’" +2Cl~
Cl, >Fe'"; HCIO + HCl =—=Cl,
HCIO > Cl,; 2Fe’" +
Fe'* > Cu’*;
=F¢’" + Cu Cu’?

B o

+H,0
Cu=—=2Fe** +Cu’"
Fe + Cu**

2+

> Fe

¢ 55
4 (1) 5 : KBr.Br,. I+
KI.K, S0,
‘KBrO, +__ +H,S0, —_ +__+__+
__+H,0. (2) I, KI
8 1 :(Br o
@
;. +KBO,+ 4+ e o
KBrO, Br
KBrO, KBr
Br, KI I, o
(1 KBrO,

KI :
KBrO, +KI +H,50, —1, +Br, +K,S0, +KBr +9H,0.
(2) 1, 8 KI 1 1

16 mol KBr 1
6 mol  KBrO,—Br, 10 mol Br,
. @ KI 16
KBrO, 3 K K,SO0, 9
H,S0, 9 3.169.8.19.1.9.
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